## IN-0007631



Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

05/22/2025 10:00 AM | Drive and Deliver to state 05/23/2025 09:00 AM | Day 2 installation State 05/23/2025 10:00 AM | Drive to Santa Barbara and install Rosewood 05/23/2025 12:00 PM | Welcome Party 05/23/2025 05:00 PM | Shabbath Dinner 05/24/2025 09:00 AM | Installation day 2 Rosewood 05/24/2025 01:00 PM | Strike Welcome Party and Shabath Dinner 05/25/2025 07:00 AM | Installation Rosewood Loan anf finish Touches 05/25/2025 08:00 PM | Strike Cocktails 05/26/2025 01:00 AM | Strike Ballroom & Drive back to LA

PO: Shipping Address: Rosewood Miramar KED & Co.

Invoice Date: Due Date: Upon Receipt

Salesperson: Romina Manolio

	Qtty	Price		Total
		Total Gene	eral	\$0.0
Cocktail may 23rd State				
Bars - Cabo San Lucas - 16' Round Painted in Truly Olive to Hav eCustom wall paper insert with Other pattern Wall paper on the outer Border in TBD	1	\$9,000.00	Т	\$9,000.0
16' D x 3'9" H ; 24 3/4" floor to first shelf ; 19 3/4" first shelf to second shelf				
Barback - Round Metal Painted in Truly Olive	1	\$360.00	Т	\$360.0
Panels - Hedge Panel 4'x8' h this needs to Be cut down to 85"H With Shelves to create Seating Card Wall 180 Urns for Flowers aproc 6" x 8"H 4' X 8'H	6	\$300.00	Т	\$1,800.0
Garden Bistro & Stand Up Tables - Descanso Gardens - Bistro Arkade white 42"Diam x 29 1/2"H - Frame Color Upon Request	5	\$198.00	Т	\$990.0
Garden Dining Chair - Descanso Gardens - Chair Arkade white 23"L x 20"W x 37"H - Frame & Cushion Color Upon Request	25	\$66.00	Т	\$1,650.00
Pedestals - Arched Lucite Frame 15.75" x 42"H	4	\$180.00	Т	\$720.00
Stand Up Tables - Buenos Aires - Clear 43" 14"W x 14"L x 43"H	8	\$120.00	Т	\$960.00
	Bars - Cabo San Lucas - 16' Round     Painted in Truly Olive to Hav eCustom wall paper insert with Other pattern Wall paper on the outer     Border in TBD     16' D x 3'9" H ; 24 3/4" floor to first shelf ; 19 3/4" first shelf to second shelf     Barback - Round Metal     Painted in Truly Olive     Panels - Hedge Panel 4'x8' h this needs to Be cut down to 85"H     With Shelves to create Seating Card Wall     180 Urns for Flowers aproc 6" x 8"H     4' X 8'H     Garden Bistro & Stand Up Tables - Descanso Gardens - Bistro     Arkade white     42"Diam x 29 1/2"H - Frame Color Upon Request     Garden Dining Chair - Descanso Gardens - Chair     Arkade white     23"L x 20"W x 37"H - Frame & Cushion Color Upon Request     Pedestals - Arched Lucite Frame     15.75" x 42"H     Stand Up Tables - Buenos Aires - Clear 43"	• Cocktail may 23rd State   1     Painted in Truly Olive to Hav eCustom wall paper insert with Other pattern Wall paper on the outer Border in TBD   1     16' D x 3'9" H; 24 3/4" floor to first shelf; 19 3/4" first shelf to second shelf   1     Barback - Round Metal Painted in Truly Olive   1     Painted in Truly Olive   1     Painted in Truly Olive   1     Panels - Hedge Panel 4'x8' h this needs to Be cut down to 85"H   6     With Shelves to create Seating Card Wall 180 Urns for Flowers aproc 6" x 8"H   6     Garden Bistro & Stand Up Tables - Descanso Gardens - Bistro Arkade white 42"Diam x 29 1/2"H - Frame Color Upon Request   5     Garden Dining Chair - Descanso Gardens - Chair Arkade white 23"L x 20"W x 37"H - Frame & Cushion Color Upon Request   25     Pedestals - Arched Lucite Frame 15.75" x 42"H   4     Stand Up Tables - Buenos Aires - Clear 43"   8	Total Gene     Total Gene     Cocktail may 23rd State     Bars - Cabo San Lucas - 16' Round   1   \$9,000.00     Painted in Truly Olive to Hav eCustom wall paper insert with Other pattern Wall paper on the outer   1   \$9,000.00     Border in TBD   16' D x 3'9' H ; 24 3/4" floor to first shelf ; 19 3/4" first shelf to second shelf   1   \$360.00     Barback - Round Metal painted in Truly Olive   1   \$360.00   \$300.00     Panels - Hedge Panel 4'x8' h this needs to Be cut down to 85"H   6   \$300.00     With Shelves to create Seating Card Wall 180 Urns for Flowers aproc 6" x 8"H 4" X 8"H   \$198.00     Garden Bistro & Stand Up Tables - Descanso Gardens - 5 Sistro Arkade white 42"Diam x 29 1/2"H - Frame Color Upon Request   \$25   \$66.00     Arkade white 23"L x 20"W x 37"H - Frame & Cushion Color Upon Request   25   \$66.00     Pedestals - Arched Lucite Frame & Cushion Color Upon Request   4   \$180.00     15.75" x 42"H   8   \$120.00	Total General     Total General     Cocktail may 23rd State     Bars - Cabo San Lucas - 16' Round   1   \$9,000.00   T     Painted in Truly Olive to Hav eCustom wall paper insert with Other pattern Wall paper on the outer Border in TBD   1   \$9,000.00   T     Barback - Round Metal shelf   1   \$360.00   T     Painted in Truly Olive   1   \$360.00   T     Qarden Bistro & Stand Up Tables - Descanso Gardens - Bistro   \$198.00   T     Arkade white   22'Diam x 29 1/2''H - Frame Color Upon Request   25   \$66.00   T     Arkade white   23'L x 20'W x 37'H - Frame & Cushion Color Upon Request   25   \$66.00   T  <

Description		Qtty	Price		Total
	Total Sł	habbat Dinner Cock	ctail may 23rd St	tate	\$15,480.00
Shabbat Dinner	May 23rd - reception State				
	Panels - Hedge Panel 4'x12 Tobe used for Front off house Sie ways 4'X10'H	1	\$216.00	Т	\$216.00
Polytometer	Custom Made Half Round Tables 40"With This table needs to match Rental Company W &H 6 sets to Create a half-circle 4 to be by it self	16	\$780.00	Т	\$12,480.00
	Custom Made table cloth for Half Round Tables Revelry will only - be cutting, and sawing fabric - Client will provide Actual Linen Fabric - Oatmeal Linen	16	\$90.00	Т	\$1,440.00
	Props - Misc - Mirror Disco Ball 24" 24"D	3	\$42.00	Т	\$126.00
	Props - Misc - Mirror Disco Ball 20" 20"D	4	\$36.00	Т	\$144.00
	Props - Misc - Mirror Disco Ball 16" 16"D	3	\$30.00	Т	\$90.00
	Garden Club & Lounge Chairs - Scalloped Chair Black Iron Sage Green Cover 24 1/2 L" x 23" W x 27 H"	4	\$180.00	Т	\$720.00
	Garden Sofas - Scalloped Love Seat Black Iron Sage Green Cover 50 1/4"L x 22"W x 27"H	2	\$330.00	Т	\$660.00
	Coffee Tables - Toronto - Rectangular Black Frame 36"W x 22"L x 17"H - Frame Color & Top Upon Request	2	\$180.00	Т	\$360.00
TH .	Accent Table - Toronto - Round Black Frame 24"Diam x 23"H - Custom Frame Color & Top Upon Request	4	\$72.00	Т	\$288.00
	Bars - Montecito - White Folding Wood 6' Painted match to oatmeal - Paint Top and Sides 6'W x 31"L x 42â <sup>®</sup> 8 H	4	\$960.00	Т	\$3,840.00
	Panels - Hedge Panel 4'x10' To Cover Restrooms Make all 12'H 4'X10'H	24	\$192.00	Т	\$4,608.00
	Panels - Hedge Panel 2'x10' Make all 12'H 2'W x 10'H	5	\$120.00	Т	\$600.00

Description		Qtty	Price		Total
	Total Sh	abbat Dinner May 2	3rd - reception S	tate	\$25,572.00
Velcome Day Party	,				
	Pedestals - Shanghai - Irregular Wood ' X 2' X 42" Н	4	\$180.00	Т	\$720.00
F	Panels - Hedge Panel 4'x10' or Restroom 'X10'H	24	\$192.00	Т	\$4,608.00
т	Panels - Hedge Panel 2'x10' o be used as side- rest is extra 'W x 10'H	7	\$120.00	Т	\$840.00
	Bars - Tahoe - Reclaimed Wood Folding 8' 'W x 30"L x 42"H	1	\$420.00	Т	\$420.00
	Bars - Tahoe - Reclaimed Wood Folding 6' ⤠¤ ₩32⤠¤ ±42⤠¤ н	1	\$420.00	Т	\$420.00
	)j Booths - Santa Fe - Reclaimed Wood 'W x 37"L x 44"H	1	\$480.00	Т	\$480.00
	Bars - Napa - Wood Folding Bar ⤠¤ ₩32⤠¤ ±42⤠¤ H	4	\$600.00	Т	\$2,400.00
a Construction of the	Bars - Curved Wood & Tin Front 8 1/4 ' L x 42 1/8" H	1	\$780.00	Т	\$780.00
G V	Garden Props - Pagoda Umbrella 8' arden Props - Pagoda Umbrella 8' - Champagne/White Cov Vith Bases 'Diam x 8.5'H - Custom Cover Upon Request	9 er	\$144.00	Т	\$1,296.00
	Garden Props - Pagoda Umbrella 8' Thampagne and White Cover	1	\$144.00	Т	\$144.00
P	Garden Props - Umbrella Stand - Multicolor rainted Arkade White 1.7"Dia. x 13.5"H, 44 lbs.	10	\$0.00	Т	\$0.00
		Tota	Total Welcome Day Party		\$12,108.00
Vedding Cocktail -	May 25th - Rosewood				
T Ir 1	Bars - Cabo San Lucas - 16' Round op, sides and base all Lime stone Formica hside Painted in Harvest Brown 6' D x 3'9" H ; 24 3/4" floor to first shelf ; 19 3/4" first shelf to helf	1 o second	\$4,800.00	Т	\$4,800.00

Description		Qtty	Price		Total
	Barbacks - Round Table - Multicolor Painted in Harvest Brown Create a new Platform 36" x 18"H 80"Diam x 40"H	1	\$240.00	Т	\$240.0
	Custom Made table Cloth For stand up Box pleats and Bottons verona white 4 pleats Table Dimensions: 30⤠In diameter and 42⤠In height	8	\$300.00	Т	\$2,400.0
	Benches - Modular Foam Benches W/ Backrest 6' - Middle 6' x 30" D x 18" H	4	\$360.00	Т	\$1,440.00
E	Benches - Modular Foam Benches W/ Backrest 6' - Left 6' x 30" D x 18" H	2	\$360.00	Т	\$720.00
	Benches - Modular Foam Benches W/ Backrest 6' - Right 6' x 30" D x 18" H	2	\$360.00	Т	\$720.00
	Benches - Modular Foam Benches W/ Backrest 5' 5' x 30" D x 18" H	2	\$360.00	Т	\$720.00
	Custom Made Bases in Wood for Benches Finish in BEHR Gold Pecan	10	\$420.00	Т	\$4,200.00
50	Coffee Tables - St. Barts - Natural Wood White Wash 60" W x 32" D 12"H	4	\$264.00	Т	\$1,056.00
	New St Barts - Natural Wood White Wash	6	\$264.00	Т	\$1,584.00
	Custom 24 Bar Top Sides and base All Lime Stone Formica Inside Painted in Harvest Brown	1	\$5,400.00	Т	\$5,400.00
	Custom Made barback Tokyo Barbacks - (2) 5'x8'7", (2) 6'x8'4"   Painted in Harvest Brown matched to Verona Almond fabric - All to have wood shelf with lip	4	\$720.00	Т	\$2,880.00
	Ottomans - Standard Pod Monaco White Cover 18"RND x 17"H - Cover Color Upon Request	24	\$66.00	Т	\$1,584.00
	Mix and Match pillows	25	\$30.00	Т	\$750.00
	Custom Made 12 bar satelite on side Top, Sides and Base all Lime stone Formica painted in harvest brown	1	\$2,640.00	Т	\$2,640.00
	Custom Made Barback matching Main Barback	2	\$720.00	Т	\$1,440.00
	Total Wedding C				\$32,574.00

Description		Qtty	Price		Total
	Console Tables - Oval Antique Brass 48.5" x 15" x 32"H	2	\$204.00	Т	\$408.00
	Custom Made Center Division For Bride and Groom 12'x 60 x 10'H with and Awning Station on the Front for 2' along the 36' Creating a box with Heavy Drape Almond	1	\$10,200.00	Т	\$10,200.00
	Custom Made Panels Slatted on Side Of center Divider 4'x 10' in natural Wood	16	\$1,440.00	Т	\$23,040.00
Fi	Dining Chairs - Florence - White W/armrest & Wood Frame For Hora 27"W x 23"L x 40.5"H	2	\$22.80	т	\$45.60
		Total	Wedding Ceremo	ony	\$33,693.60
Katubah Singnii	ng				
	Dining Chairs - Palermo - White Cushion: Cream	50	\$22.80	Т	\$1,140.00
MM	16"W x 19"L x 36"H - Seat Cushion Cover Color Upon Request				
A A A A A A A A A A A A A A A A A A A	Garden Dining Chair - Giardino Delle Rose - Chair 04 Arcade White Whith White Cushion 18"W x 18"L x 34"H - Frame & Cushion Color Upon Request	10	\$30.00	т	\$300.00
	Custom Made Table Cloth 84" Round Off White Tulle (ref to image from K) layers, "frilly", overhang 84" x 40"H for ketubah	1	\$420.00	Т	\$420.00
		Tot	al Katubah Singn	ing	\$1,860.00
Vedding REcep	tion foyer Drape				
	Fabric Treatment to Cover Foyers 280'x 12'H natural Gauze, swags	1	\$5,520.00	Т	\$5,520.00
	Total W	ledding RE	ception foyer Dra	ре	\$5,520.00
Vedding Recep	tion May 25th - Rosewood				
	Truss Covers for box truss - 22'x12"x12" Scuba Taupe Matching Fabric with Velcro	2	\$264.00	Т	\$528.00
	Small Decor - Tahiti - Wicker Basket Round Large 23" x 12"H	3	\$75.90	Т	\$227.70
	Dj booth New Matching Stage	1	\$600.00	Т	\$600.00
	Custom Made Table Cloth for Cake Table 30" round x 40"H Off White Tulle & Off White Poly satin (ref to image from K) layers, "frilly", overhang	1	\$180.00	Т	\$180.00
	Custom Made Table Cloth Pleated with Swags in Rayon Linen 132 Taupe	13	\$540.00	Т	\$7,020.00

escription		Qtty	Price		Total
	Custom Made Table Cloth	2	\$600.00	Т	\$1,200.0
	Pleated with Swags in Rayon Linen 132 Taupe 72"x 30"H		·		
	Custom Made Table Cloth	1	\$480.00	Т	\$480.0
	Pleated with Swags in Rayon Linen 132 Taupe 60"x30"H				
	Fabric Treatment to Cover Ballroom In Natural Gauze	1	\$12,000.00	Т	\$12,000.0
	With Valance/ 200'x 24'H to create Swags on Higher Room area, 350 x 16'H To Cover the lower area and create Swags, double-sided Pullbacks on the Doors				
	Custom - Stage Treatment this is an Aproxiamte	1	\$24,000.00	Т	\$24,000.0
	4- Legs With Rattan / StaGe front 20' x 24"H / Stage Back Drop 20' x 12'H / Stage Procenium / Stage Ceiling/				
a	Sconces - Beverly Hills - Amber Murano	2	\$0.00	Т	\$0.0
	6"W x 30"H - 25 Watts				
	Total Wedding	Reception M	ay 25th - Rosewo	bod	\$46,235.7
edding Rece	otion Patio				
	Sconces - Beverly Hills - Amber Murano	4	\$0.00	Т	\$0.0
	6"W x 30"H - 25 Watts				
	Club & Lounge Chairs - Aspen - Swivel White Boucle	2	\$240.00	Т	\$480.0
5	26"W x 30"D x 30"H				
	Accent Table - Bora Bora - Gold Twirl	1	\$132.00	T	\$132.0
	21"W x 14"L x 24â 🛛 H				
	FAbric Treatment to Cover Patio In natural Gauze	1	\$5,520.00	Т	\$5,520.0
	280'x 12' Doublesided				<u>.</u>
	Bars - Straight Molding 24' to Be painted Same as bar-back and Stage	1	\$4,320.00	Т	\$4,320.0
	32'W - 4 pieces to create 1 bar				
	Barback - Ribbed Alcoves - Multicolor	2	\$1,800.00	Т	\$3,600.0
	Painted in a color close to stage stain alcoves in caneback + sconces inner arch to be slightly lighter Add Puck Light to top shelves				
	12' x 18" x 10'H				
ditions For (	lundou	Total Wedd	ling Reception Pa	atio	\$14,052.0
dditions For S	-		<u> </u>	<b>–</b>	À 400 0
	Truss Cover for LED Screen in Champagne Scuba matching the Backing on the walls	4	\$120.00	Т	\$480.0
	12"x12"x10' H				

Description		Qtty	Price	Total
		Total A	dditions For Sunday	\$480.00
Services				
	Thursday Drive and Install Friday Shabbath Dinner State	6	\$650.00	\$3,900.00
	Friday Team to install Shabbath & Welcome Party	6	\$600.00	\$3,600.00
	Saturday guys strike Shabbath Dinner & welcome	6	\$550.00	\$3,300.00
	Friday Team to Drive and install Rosewood	8	\$650.00	\$5,200.00
	saturday Team to Continue ON rosewood	8	\$600.00	\$4,800.00
	Sunday Am Install Loan and Finish Ballroom	12	\$650.00	\$7,800.00
	Strike Ceremony Lawn right after & Ballroom	12	\$650.00	\$7,800.00
	Team To Drive back Monday To LA	12	\$450.00	\$5,400.00
	Transportation To Drive and stay in santa Barbara	7	\$750.00	\$5,250.00
	Van	1	\$0.00	\$0.00
	Perdiem For Crew For State from Thrusday to Monday	4	\$368.00	\$1,472.00
	Perdiem Crew State from Thrusday to Saturday	2	\$276.00	\$552.00
	Per diem For Rosewood Crew Friday to Monday	8	\$368.00	\$2,944.00
	Perdiem Crew Rosewood Sunday to Monday	4	\$184.00	\$736.00
	Hotels from Sunday To Monday	2	\$750.00	\$1,500.00
	Hotel From Friday to Monday	4	\$1,100.00	\$4,400.00
	Hotel From Thruday to Saturday	3	\$800.00	\$2,400.00
	Managers Hotel From Thursday to Sunday	1	\$3,237.00	\$3,237.00
	Manager on Site	1	\$6,200.00	\$6,200.00

Please make checks payable to Revelry, Inc.	Total Products:	\$187,575.30
Note: Driver to delivering and pick upp all invaiges must be new in full	Total Labor/Services/Misc:	\$70,491.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	Wear & Tear (4.00%):	\$7,503.01
	Packing (2.00%):	\$3,751.51
Notes	Taxes :	\$17,819.65
	Discounts:	(\$0.00)
	Total:	\$287,140.47
	Payments:	(\$280,000.00)

\$7,140.47

Balance: